Surds and Brackets

REVISE THIS
1S Tt

1 Expand and simplify v3(v6 + 5) [2 marks]
J1g + 53 @
= (Axz + 52 '(
= AxJZ + SI? o
o BT+ ST 2
2 Expand and simplify v5(3 —v/10) [2 marks] -8
35 - (S0 2
= 30s - 15 x{2 43'
- 23S- sx1 _._g
Answer 25 - s 5
3 Expand and simplify vV8(v2 + /5) [2 marks]
o + J4o
= 4 + %~
= 4 + 2Lx{io
Answer U+ 2{\0
4 Expand and simplify V6(v/8 + v2) [3 marks]
Jwe + iz
= b x {2 + Jk x [3
= {3 + 203
AR -
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5 Expand and simplify (v2 + 1)(v2 + 3) [2 marks]

2+ W +§2+ 3

S + L2

Answer

6 Expand and simplify (v/5—2)(v/5 + 6) [2 marks]

S + 6(s - 2§05 — 12

Answer Ll“\’g - _:;L

7 Expand and simplify (7 —v2)(v2 + 10) [2 marks]

7{L +30 -2 -I0J7

Answer Qg B 3\‘7‘

8 Expand and simplify (V11 + 1)2 [2 marks]
(W + | \(\F\T + \\
= 14+ W+ v

Answer \2— Al z—m
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Expand and simplify (3v6 + 4)(2v/6 — 5)

[3 marks]
6% — 1S{¢ +8Ic— 20D
= 6x6 — {6 -20
= 36 - >+ 6 - 20
Answer \6 - q-\yz
Expand and simplify (V6 +v2)(v/6 - v2) [2 marks]

6 -Viz + (. -2
— 66— 2

Answer (—‘-

(/5 +v2)(V10 = 2) = kv/2 where Kk is an integer. [3 marks]
Work out the value of k.

{so — 2{s + {25 - 202
= NS xVZ - LIS + &S - 207

ST - s + )% - 207

{2

= 3

TREL

(23 +5)(3V3 +5) =a + bV3 where a and b are integers. [3 marks]
Work out the values of a and b.

692 +1002 + IS{Z + 25

= 8 + 1s{3> + 28§
= 43+ 283

N = 25
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Work out the values of X and y.

{6 + SI7 +1S — 58

—

-
—

= 11— 1012
= |9 \O

y:
14

Work out the values of p and g.

A5 + 3s + ik + (ot

-~

= S{3 + \S + 4z v+ 12

R I i A A

p= Lt q= lot

15

Expand and simplify (V3 + 4)3

(T +(F+9( R +4)
= (3 vl s Al (3 44)

= (o + 33 (T +4)

1A+ 36 + 4 3R
\00 + S\

Answer \OO "" S‘\I—g
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V2(+/8 + 5) + 5(3 —V18) = x —y¥2 where x and y are integers.

[4 marks]

G + S{2 +1S - sx{q x\7
G + ST +19 - Sx23x{2
G + Sz 18 - sV

3V5(V15 +/5) + V6(v8 + V24) = p + qv3 where p and q are integers.

[4 marks]

x5 x¥2 + x5 +{bx i3 + (2

[4 marks]
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17

Show clearly that (V3 + 2)2 + (5 — 2v/3)2— (8 —V/3)? is equal to an integer.
[5 marks]

B+ 2+23 +2B3 +4% = T + 43
(S—22) =25 -10/T-10fT + 2= 33 - 201
(B—3) = 64 W3-8 +2 = 6F — (67

(F+u®) + (=101 — (67 —16R)

= T 143+ - 13 - 61 +l6dd
= =203 ('\w’&egw\

VI0(V2 + V10) + V3(5V12 + V15) CasvE o
(\/7_'_\/5)(\/7_\/5) - where a Is an integer.

Work out the value of a

[6 marks]
{0+ 10 + St + &S = 2[S +10 + 30 + s
F-UF+2L3-2 S
= 40 + S{S
S
= 3 +1S
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